
 

 

 

A Tepui Rating for each of these measures for a company-industry will be submitted by users (1, worse, to 5, best).  A subsequent ratio, or 
weight (𝑤𝑖), will be generated for each measure: 

𝑤𝑖 =  
𝑇𝐸𝑃𝑈𝐼𝑖

∑ 𝑇𝐸𝑃𝑈𝐼𝑖𝑖
 

The combined rating for each environmental-impact measure, 𝑇𝐸𝑆𝐺𝐸𝑖, is then: 

𝑇𝐸𝑃𝑈𝐼𝑖 =

𝑁𝑜. 𝑜𝑓 Tepui-rated 
𝐶𝑜𝑚𝑝𝑎𝑛𝑖𝑒𝑠 𝑤𝑖𝑡ℎ

𝑤𝑜𝑟𝑠𝑡 ESG-E 𝑟𝑎𝑡𝑖𝑛𝑔𝑠
+  𝑤𝑖 ∗ (

𝑁𝑜. 𝑜𝑓 Tepui-rated 𝑐𝑜𝑚𝑝𝑎𝑛𝑖𝑒𝑠
𝑤𝑖𝑡ℎ 𝑠𝑎𝑚𝑒 ESG-E 𝑟𝑎𝑡𝑖𝑛𝑔

𝑎𝑠 𝑡ℎ𝑒 𝑐𝑢𝑟𝑟𝑒𝑛𝑡 𝑜𝑛𝑒

) 

𝑁𝑜. 𝑜𝑓 Tepui-rated 𝐶𝑜𝑚𝑝𝑎𝑛𝑖𝑒𝑠 𝑤𝑖𝑡ℎ 𝑎𝑛 ESG-E  𝑟𝑎𝑡𝑖𝑛𝑔
 

The OVERALL, combined TEPUI rating for a company-industry is then:   TEPUI = ∑ 𝑤𝑖 ∗ 𝑇𝐸𝑃𝑈𝐼𝑖𝑖   

 


